Whatit..

..you dedde the staring number and the number :equence?
Can you explaln your number sequence fo :omeons?

At the fun park, Jodie sees
the bumpaer cors Ining wp In order.
Cara gotinfo a bumper car whose number N
than 20 bet lecs than 50. After this, another one anfves.
NOR ERE. eszzin What numbaer will be o0 the latt
It wae an odd number.
What number bumper car could the bomper carto enivet
P A few minutes later, another two
have gotinte? bumper car: ardva
What will be the last number now?

Somple

At the fun park, Jodle tee: the bumper cans

Ining up In order.
The next bumper car anfves, Azhley tay: that the want: fo have a ddelin bumper car sembaer 6.

After this, another one anfves. Will she be able 1o?
A few minutes later, another two bumper cars amfve Bxploin how you lkmow.
What number will be on the last bumper car? “ ’

Number

sequences,
mulbples of §

000 — . 4
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Cara covld have gotin
bumper car number
25,35 or 45.

Bumper car number 40.

The first bumper
car to amive afler
number 20 will be
25 so the next one o
amve afler this will
be number 30.

One possible approach...

My number sequence starts at 5
and counts forward in 2s.
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Bumper car number 30
then

bumper car number 40.

No because the bumper car
numbers are mulfiples of 5.

Mulfiples of 5 have 5 or 0 units
and 61 has | unit




